I Copy and complete.
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(d) 5, to tenths (e) 3¢ to ninths (f) 79 to sevenths.
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4  Simplify.
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5 Ayub and Bea played 30 games of Noughts
and Crosses. Ayub won 10 games, Bea won ¢
6 games and the rest were draws.
What fraction of the games {,
(a) were won by Bea
(b) were won by Ayub
(c) were draws?
6 The table shows the results when Bea N :
. : umbers on dice| Frequency
threw two dice 50 times.
What fraction of the throws resulted in | ! ©dd + I even =
(a) an odd and an even number 2 odd 10
(b) two odd numbers
(c) two even numbers? Lo L
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